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Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.
Group - A
(Marks : 50)
1. Answer any five questions : 2x5

(a) What do you mean by Shutdown point?

(b) What is the basic difference between monopolistic competition and perfect competition?
(c) Differentiate between scarcity rent and differential rent.

(d) Mention two reasons for differences in wages.

(e) Mention two functions of labour union.

(f) Mention two differences between profit and other factor incomes.

(g) Does a monopolist always earn supernormal profit?

(h) Give two examples of price discrimination of a monopolist.

2. Answer any two questions :

(a) (1) Explain with diagram that a perfectly competitive firm may earn supernormal profit, loss and
normal profit in the short run.

(i) Derive the short run supply curve of a firm in perfect competition. 10+10
(b) (1) Explain with diagram the equilibrium of a price discriminating monopolist.

(i) When the price discrimination is possible and when it is profitable? 10+10
(c) (1) Write down the factors determining the power of trade unions to raise wages.

(i) Explain the relation between rent and price in Ricardian Theory and Modern Theory. 10+10
(d) (1) Explain the liquidity preference theory of interest. Can the rate of interest be zero or negative?

(i) Explain the uncertainty Bearing Theory of profit. Does profit exist in the long run?
(8+2)+(8+2)

Group - B
(Marks : 50)

3. Answer any five questions : 2x5
(a) Define Say’s law of markets.
3 . . o
(b) If MPC :Z what is the value of investment multiplier?

(c) What is stagflation?
(d) What is inflationary gap?
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(e) If APCzé what is the value of MPC?

(f) Mention two fiscal measures to control inflation.

(g) What is selective credit control?

(h) What do you mean by comparative advantage in trade theory?

4. Answer any two questions :

(a)

(b)

(c)

(d)

(i) Explain the classical theory of employment and output with diagram.

(i) Determine the equilibrium income in simple Keynsian model with saving and investment.

10+10
(i) Explain the concept of demand pull and cost push inflation with diagram.
(i) What are the effects of inflation? 10+10
(i) Explain the arguements for free trade.
(i) Explain the comparative advantage theory of international trade. 10+10

(1) When is the value of the investment multiplier equal to 1?
(i) Explain what is meant by the paradox of thrift?
(i) What do you mean by voluntary and involuntary unemployment?

(iv) What is full employment? 5+5+5+5



